Algebra 2 Test Solutions December 03, 2012

6th year honours maths

Test on Algebra Chapter 2

Show that the roots of the equation x* — (a + d)x + (ad — b*) = 0 are real.
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A section of the graph of a polynomial YA (3.8)
flx) =ax*+ bx* + cx +d 87 .

is drawn in this diagram. 7

(i) Find the roots of this polynomial. 67

(11) Write an expression for f(x) in terms 3
of the factors of this polynomial. 4

(iii) Find the values of a, b, ¢ and d. 3

(iv) Find an expression for the reflected 24
image of this curve in the x-axis. [

(v) Find an expression for the reflected image . ! N
of this curve in the y-axis. __1?_ 1 f 3456 7K

Roots = _
x-intercepts | (1) Xx= 2,5 .S

n (x-2)(x-5)(x-5)

f(3)-=3 () =n(320G-5)3-5)=%
>0 (1 X-2)-2) =%
4o =R
n= 2.

> F(X) = 2 (X"?XX'SXX'SB

n-multiplier |G1)  Px)

\

@)
expand Feo

\l

2 (x-2 )CX-5Y(x ~5)
(2%-4)(X*- Io¥ 4+25)

= 2% - 20X + 5OY - 4x%+ Yo%)
2x> -24 X*+ 9ox - (50

AX) = ox® + bx* + % + oA

D a=2 o= -24 c= 7o oA=-loo

Reflected D) “F(X) L _ZX'} +2qx1_ I + 106
image in x-axis
is -f(x)
() Aosks wedot bei -2,-S -5
Reflected image ,Fqc(-ons (x.l—'L)CX +5 XK+5)
in y-axis = 9(X) SAA)oe. el be WNegative

bur Se Semw 2 Mﬁ-lﬁ)al/egz—i
7&) = =2 (X+ 2)YX+5Xx+5)




Algebra 2 Test Solutions

project maths paper 2012

Factor THEOREM
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Divide by factor

Solve quadratic

Use formula
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A cubic function f'is defined for xe R as

fix= ¥ +(1-k")x+k, wherekisa constant.

(a) Show that —k is aroot of /.
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(b) Find, in terms of &, the other two roots of /.
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Express 2x* — 4x — 5 in the form a(x + h)* + k and hence,

(i) solve the equation 2x* —4x —5 =0
(ii) find the minimum point of this curve.

Perfect square

format
complete square
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